
 

  RR (B) - 5023 (CHE)  [ Turn over 

— 560 003 

KARNATAKA SECONDARY EDUCATION EXAMINATION BOARD, MALLESWARAM, 
BANGALORE – 560 003 

/ 2019 

S.S.L.C. EXAMINATION, MARCH / APRIL, 2019 

MODEL ANSWERS 

: 02. 04. 2019 ] : 83-K (Chem.) 

Date : 02. 04. 2019 ] CODE NO. :  83-K (Chem.) 
 

Subject : SCIENCE 

/ Chemistry  

/ Old Syllabus  

 / Regular Repeater  

/ Kannada Version  

   [ : 80 

   [ Max. Marks : 80 

 
  

3.  

(A) (B)  

(C) (D)  

 (B)    1 

7.  

(A) C
n

H
2n2 

 

(B) C
n

H
2n2 

 

(C) C
n

H
n2

 

(D) C
n

H
1n2 

 

  (A) C
n

H
2n2 

 1 

B 
CCE RR 
UNREVISED 
 

 



83-K (Chem.) 2 CCE  RR  

  RR (B) - 5023 (CHE)   

 
  

9. X  

 CuSO
4

 +   X         X   SO
4

 + Cu

(A) Ag (B) Au 

(C) Fe (D) Hg 

 (C) Fe 
1 

10. 

(A)  (B)  

(C)  (D)  

 (D) 
1 

15.  

 
 

  1 

16.  

 
 

 

 1 

18.  

 
 

 —  OH   ½ 

—  COOH   ½ 1 

19 

 

     

 
5 6 7 8 

(a) (i) (ii) 

 

(b)   



CCE  RR  3 83-K (Chem.) 

  RR (B) - 5023 (CHE)  [ Turn over 

 
  

 

 (a)  ½ 

  ½ 

(b)  1 2 

 
 

 

    

24. 

(a)  

(b)  

 

(a)  

(b)  

 
 

 (a)  1 

(b)  1 2 

 
 

 

 (a)  1 

(b)  1 2 



83-K (Chem.) 4 CCE  RR  

  RR (B) - 5023 (CHE)   

 
  

26. 

(a)  

(b)  

 

  

 (a) 2 Al + 3 Cl
2

   2 Al Cl
3

  1 

(b) 2Na + 2H
2

O  2NaOH + H 
2

 1 2 

   

 (a)  1 

(b)  1 2 

30. 

 

(i)  

(ii)   

  

 

 

1 

½ + ½ 
 

2 



CCE  RR  5 83-K (Chem.) 

  RR (B) - 5023 (CHE)  [ Turn over 

 
  

34. 

 

  

1·5 × 105  

2·5 × 105  

3·0 × 105  

Y 

10 

X 

5 

2 

X  Y  

 
 

  P  =  1·5  105   

 V  =  10  

 PV  =  1·5  105   10 

 PV  =  15  105   

X   

  PV  =  15  105   

 2·5  105   X  =  15  105   ½ 

  X  =  
5

5

1052

1015




 

  X  =  6   ½  



83-K (Chem.) 6 CCE  RR  

  RR (B) - 5023 (CHE)   

 
  

 Y  

 P  V  =  15  105   

 Y  2  =  15  105  

  Y  =  
2

1015 5
 ½ 

  Y  =  7·5  105   

  Y  =  7·5  105   ½ 2 

36.  

 

 

 
 

 
 

(i) 

 

(ii)  

 

 

 

 

 



CCE  RR  7 83-K (Chem.) 

  RR (B) - 5023 (CHE)  [ Turn over 

 
  

(iii) 

 

(iv) 

 

(v) 

 

(vi) 

 ( 6 × ½ ) 

 

 

 

 

 

 

 

 

3 

 
 

 

  

(i) 

 ½ 

(ii)  ½ 

 

 

 

 



83-K (Chem.) 8 CCE  RR  

  RR (B) - 5023 (CHE)   

 
  

(iii) 308 K   ½ 

(iv) 

6  10 

95  

  ½ 

 C
12

H
22

O
11

 + H
2

O   C
6

H
12

O
6

 + C
6

H
12

O
6

 

   +  ½ 

 C
6

H
12

O
6

   2 C
2

H
5

OH + 2CO
2

  

    ½ 

 

 

 

 

 

 

 

 

3 

39. 

 

(i)  

(ii)  

 
 



CCE  RR  9 83-K (Chem.) 

  RR (B) - 5023 (CHE)  [ Turn over 

 
  

 

 

2 

½ + ½ 

 

 

3 

41. 

(a)  

(b)  
 



83-K (Chem.) 10 CCE  RR  

  RR (B) - 5023 (CHE)   

 
  

 

 (a)  

  1  

  

(i) 

 

(ii) 

 

(iii)  

(iv)  

  ( 2 × ½ ) 
 

 (b)  

  1  



CCE  RR  11 83-K (Chem.) 

  RR (B) - 5023 (CHE)  [ Turn over 

 
  

  

(i) 

 ½ 

(ii) TNT 

  ½ 4 

   


